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Algebra 2

] %
A Ih [l
LI T h- 1]

> 2

cm?; Radius of 2rem: A = dmriem
=1 y=2 =17 Lx=y=40; P=140; Q=R =20
Asquare = 36 em® R = | om; Agpygeq = 7.74em® 5200 6 3 7. & 8 -
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EEEEEEREEFE 18 y=4ix-2 19310
[a]—--a+_f_ 0. y=3x- 7%
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11 50 - 3043 12, Mmet gy deogemcc o ogqox 07
15. (-3, 1) ¥ 16. (-3.-2) ¥
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] F
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mi EENEE
1 i
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17.y= 1x 18 25 19 y=-ix+ &
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23,3 2442 2501 -%' 265 2.6mc' 2837 296 308
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problem set 1. 45mph 2. 20 miles 3. 2
0% m— —
4. Q- = 92 quarts; y = 81 quans 5. 20 measures 6. 4140 kilograms 7. (8. 7)
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16. (1. 3 ¥ 1 @y=3x+2 (b)y=-4
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problem set 1. 95days 2 '::I TWkm 3. Ny = 50boys; N = 10girls

25
4. 700 minor disasters 5. Ng = 100 quarters; Ny = 100 half-dollars 6. 2200 grams

7. x2 4 5c+ 25 + 12 8 xySxy — 2 + 10y) 9 xhmt(ym® + 1220m* - )
10. 4mpy(dmp - 2py* + my) 11 xyz(eys? + 2 - ) 12. pie(p?? + px - 1)
13. 180v6 14, 13J2 153043 =20 16, =7

17, “looireim g 6o 10 19, (3,-1) y

20,y = tx+ 3 meweaxammane
W.x=20,y=10; P=2 '_--:"“_'__:;
22, 586lcm 237 24,7 mER |- .
25, 7 26 % 2. 2P+3 - I -
28 2 -yt 29.16 ' 1]
30. 5

practice a (x-7x+ 1) b (-lix-8ix+2) “3f(x - B)x + 1)
d-.*:vlldi:ﬂ': l"‘l!-,l_l:ﬂ.'=%

roblemset 1 800 miles 2. Np = 250 blues; Np = 40 reds
B R

26
3. Np = 1000 fives; Ny = 200tens 4. 700 5, 2080 grams 6. $100
1. 20 -xl+x-1- 75 8. Tx"yzm{ix"’y} — xm + 2v°m)
9. Zeym(3am? - x + 2) 10 20%p2xp - ¥ + 4y) ML (x + Jx - D)

1. (x - 4)x = 2) 13 ablx + Dix— 1) 14 6c—1 15 10842 16, 943 - &«

17. 156 - 12 18, “==5-5 19,6 x 1072
20, (4, 5) v 3. 58 2A=+A;B=3c=%
T ﬂ.x=3l]'_1-'='1-{}‘m 150; z = 20

- - 1o 25 8C=I12m Aﬁm = 452,16 m*  26. -66
27. -3 28 -5 29 -8y 30|

r + 3z =1

m' e Dal 4 2m s =1
pl'lﬁ“l:ﬁ . ‘l_i}-h_"_"l b. He+ ANz + 11

mim & 4)

problem set 1. [——] 60miles 2 | —=| 4Okilometers 3. NG = 26 girls; Ny = 10 boys

2

4 14,21,28 5. 1800 grams 6. 600 grams 7. 27 + 2v + 4 + ;05
8 Imtrlpi(3x? + pim? - 2%m) O mxy(x® - ¥P - 4

10, a’cp(l - da — x) 1L alx + 5Nx = 1) 12, -x(x - 5)ix - 3)

13, —axix + 8)x - 3) M —axPx=-5x+1 15 px-8)x-T)
16.a+1 17 3J2 -36  18.1945 19 646 — 18

20, e gy SfeMiediel gy 4 gl 23, (2,3) y

HE = p) A%E = &)

“.y=—§x-% ﬁﬁ:y’E:B=5‘;M;C='—: l_|r ]

% x=%y=% 2% 28-% 29 5%y FHH

M. =55 . ’ x
L] 13
_{_




12

practice

problem set
28

practice

problem set
29

practice

problem set
30

Algebra 2

a- nT i

1. r__—_—-l 60miles 2. -9,-6,-3,0 3 Ng = 1l girls; Ng = 4 boys

4. Ny = 400 nickels; Np = 100 dimes 5. 142,500 peasants

6. M, = 1400 kg of arsenic; Entire mixture = 8750kg 7. x° + 5r + 25 + ;75

8. 2x3(1 - ax®yY) 9, xPyp(4p? - 16 - x%p7) 10, xvix + Tix - 5)

Moaix - 8)x+ 1) 12.mix + Dix + 1) 13 -a’(x + Dix + 1)

4. 4r + 1 15 1043  16.15/3 - 30 172 % 107

15. 5 19 20 dtern gy Bl 3 (L)) v

2. @ y=-4 (b)y=-x+2 | "

24. A =30; B=C=60; D=30 E=60; F=280 HHH -

25, x = 30; 2¢ = 60; 209 m%; 209 m  26. §} 2. '

i |

28. 4.5 29, 1 - 12x~%%? 3. 3

|—|—-t—-| Rc= Smph, RH-:EH'IFI'I
Lo | 4hr 2 —e——a— | 6mph

3. je———e—| Ry = 500kph; Rg = 900kph 4. 175roses 5. 3,900,000 places

6. 140,000 hiding places 7. x% + 2c + 5 & &%3: A2 - 1)
9, 2eypd(p? — dp - 1) 10, a%ix + 97(x + 5)
Mo-mix + Dix+ 1) 12 kix+8x-35 131 +a

4. 643 151802 -24 16 1 x 10¥ 17, = 18 ¢ 19 %

2042 AERET Roatmen B0 y

U y=-Ix-12 TR

25, r = 50m; Arclength = 10rm = 314 m TN

26.A=313; 8= c=% 2.8 282 | ..

29, x~5y157% 3. & n ]
H .

a. Valid; conclusion follows from premise. b. Invalid; major premise has been reversed.

1. 480 grams 2. 500 grams 3, |———=——~| 8 mph

4. Np = 10daisies; Np = 25 prunes 5. Np = 5 quarters; Np = 10 dimes
(@) 400f% (b) 100ft Toxl-x+14+ 7 8 —a’x-Tx + 5
9 3x-5x-2 10.-abix - 5x -5 1L.aPx+Dx+2) 121-4x

—

13 1742 1472 - 18¥6 157 x 109 16 = 17. 4 18 %

-

19, 2 g, fptteer gy _Scfo 33 (4,3 r

B.oy=-x+ 2 24 142m? 25 (0 <TTTY

26 -% 27, -18 L g9 o Ly HENINH

30. 5 : .
A THN
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practice y=-4x + 6

problem set 1. 40.45,50,55
31 2

I -] p-m. 3 ;:i 60 miles

4. Ny = 40 tomato plants; Np = 30 pansy plants 5. 12,000kg 6. 120 grams
Ty=-3x+3 B3x10% e 1004 LY 125
13 3 14.30 - 2443 15 1 + 4x 16, 23 q7, 142

TE .

18, —xix = 3x - 2) 19, Zax(x — 5)x = 4) 20, palx = 2)x - 1)
2omeix + Hx -2 23 B F 24 (LY g
25, - x-1-54 26.(42) TN
7.8 28 -} SR
29. 4 = 120; B = 150; C = 30; D = 3 ] f" i ¥

E =60 F=73) F =60 '—H'.ﬁ; T
30, Acipge = 9TM? d = 6M; Aggure = 144 m? H H

practice a. -‘%.,',1 b. -5 ex=Lp=3

problemset 1. |————~| Dy = 24miles; D; = 32 miles
32 2. Ny = 60 large ones; Ng = 10small ones 3. Ny = 40 nickels; Np = 70 dimes
4 500kg 5 1200grams 6. 2200swdems 7, & 8 -ME g M
10 s=8m; r=2m Agipge = 1256m2 1L 30° 12 y=-bx+ 3 13 1x 107"

14, 212 15 1+ 4ry 16,1545 17, 4042 - 60 18 5ty

19 225 200 2xix - 3x - 1) 2LxNx 4 THx - 2) 2% axx - Tix - 1)
23, pyix + 6)x - 2) 24, -8 25 -30 26, (-3, 9) ¥
27, 4x* + 20 — 8x 4 12x + 8 A
LI "“‘1 ani
8. (2.5 2074z 0.2 N
a‘tl"i -.E'I .
- {1
r mam|
N
o TN

TE fan # * Wy = 4l
practice a =:* p =tzimuen

problem set 1. 442 hedonists 2. 2800 grams 3. 2025 grams 4, Np = 50 reds; Ny = 5 blues
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